ORDER #003295

Order Date: February 14, 2023

Due Date: Upon Receipt



MIMI RIEDER

P0:

Shipping Address:

Playa Studios: 11260 Playa Ct, Culver

City, CA 90230

EVENT DATE: MAY 18TH, 19TH, 20TH,

2023

INSTALL: THURSDAY AFTER 10AM

PICK UP: THURSDAY NIGHT AT 10PM

YOUNG ISRAEL OF CENTURY CITY

9317 W Pico Blvd, Los Angeles, CA 90035

INSTALL: FRIDAY AFTER 9AM

PICK UP: SUNDAY BETWEEN 9AM

-10AM

escription		Qtty	Price		Total
ntry Foyer					
	Green Hedge Panel, 8ft x 4ft	4	\$110.00	Т	\$440.00
	Green Hedge Panel, 8ft x 4ft	1	\$110.00	Т	\$110.00
	Hang Frames PROVIDED BY MIMI	1	\$75.00	Т	\$75.00
1	Emory Cocktail Table, White	5	\$120.00	Т	\$600.00
	Flynn Bar, 6ft	2	\$175.00	Т	\$350.00
	Dessert Cart, Vintage Wash Grazing Station	2	\$350.00	Т	\$700.00
	Flynn Back Bar INSIDE FLOWER SHOP ROOM	1	\$350.00	Т	\$350.00
	Hang Custom Sign ON FLOWER WALL / PROVIDED BY MIMI	1	\$75.00	Т	\$75.00
	Easels	3	\$25.00	Т	\$75.00
	Console Yuma Table FOR SOUP STATION	1	\$200.00	Т	\$200.00
	Custom Decal *For Ice Cream Cart*	1	\$75.00	Т	\$75.00
			Total Entry Fo	yer	\$3,050.00

escription		Qtty	Price		Total
Reception					
M	X-back Chair, Light Wood	154	\$12.50	Т	\$1,925.0
1 '	White High Gloss Dance Floor, 20' x 21'	1	\$1,260.00	Т	\$1,260.0
	Custom Decal, 12ft CENTER DECAL	1	\$864.00	Т	\$864.0
	Priscilla Vintage Umbrella Chair	2	\$125.00	Т	\$250.0
	Priscilla Accent Chair, Blush Pink	2	\$125.00	Т	\$250.0
	Priscilla Accent Chair, Light Blue	2	\$125.00	Т	\$250.0
	Ottoman - 48" Futura Ottoman, 48"	2	\$75.00	Т	\$150.0
	Ottoman, White Fur	4	\$45.00	Т	\$180.0
	Long Custom Pillows * With Logo*	4	\$38.00	Т	\$152.0
	Square Custom Pillows *With Logo*	4	\$28.00	Т	\$112.0
	Round Custom Pillows *With Logo*	4	\$38.00	Т	\$152.0
	Stitching Fee	1	\$175.00	T	\$175.0
	Stage Carpet Cover, 16' x 8' x 2'h Color: Black	1	\$456.00	Т	\$456.0
	Dj Booth Decal	1	\$75.00	Т	\$75.0
		Total Reception		tion	\$6,251.00
Catering					
	Green Turf, 10ft x 10ft	1	\$100.00	Т	\$100.0
	Trash Cans, with Black Liners	2	\$15.00	Τ	\$30.0
	Banquet Table, 6ft *VELON COVER*	4	\$13.00	Т	\$52.0
T	Lucite Cocktail Table WASHING STATION	1	\$110.00	Т	\$110.0
		Total Cate		ring	\$292.0
'ICC *Inside*					

NECYCLED FROM PLAYA STUDIOS	Description		Qtty	Price		Total
Priscilla Vintage Umbrella Chair RECYCLED FROM PLAYA STUDIOS 2 \$0.00 T \$0.00		· · · · ·	1	\$0.00	Т	\$0.00
PRECYCLED FROM PLAYA STUDIOS Priscilla Accent Chair, Light Blue RECYCLED FROM PLAYA STUDIOS Priscilla Accent Chair, Blush Pink RECYCLED FROM PLAYA STUDIOS Priscilla Accent Chair, Blush Pink RECYCLED FROM PLAYA STUDIOS FUT Ottomans RECYCLED FROM PLAYA STUDIOS Futura Ottoman , 48° 2 \$0.00 T \$0.00 FETONY Cocktail Table, White 5 \$0.00 T \$0.00 RECYCLED FROM PLAYA STUDIOS Banquet Round Low Tables, 36° 5 \$10.00 T \$50.00 A Shack Chair, Light Wood RECYCLED FROM PLAYA STUDIOS Banquet Serpentine Tables, 6ft 2 \$12.00 T \$24.00 PERCYCLED FROM PLAYA STUDIOS Banquet Serpentine Tables, 6ft 1 \$0.00 T \$0.00 FINN Bar, 6ft RECYCLED FROM PLAYA STUDIOS Banquet Table, 6ft 1 \$12.00 T \$12.00 Total YICC *Inside* \$86.00 YICC *Outside* Hang Custom Sign ROUNGED FROM PLAYA STUDIOS Green Hedge Panels, 8ft x 4ft 50.00 T \$0.00 Green Hedge Panels, 8ft x 4ft 50.00 T \$0.00 Flynn Bar, 6ft RECYCLED FROM PLAYA STUDIOS Green Hedge Panels, 8ft x 4ft 50.00 T \$0.00 Flynn Bar, 6ft RECYCLED FROM PLAYA STUDIOS Green Hedge Panels, 8ft x 4ft 50.00 T \$0.00 Flynn Bar, 6ft RECYCLED FROM PLAYA STUDIOS Flynn Bar, 6ft RECYCLED FROM PLAYA STUDIOS Flynn Bar, 6ft Service			1	\$0.00	Т	\$0.00
Priscilla Accent Chair, Blush Pink RECYCLED FROM PLAYA STUDIOS 2 \$0.00 T \$0.00			2	\$0.00	Т	\$0.00
### RECYCLED FROM PLAYA STUDIOS Fur Ottomans RECYCLED FROM PLAYA STUDIOS Putura Ottoman A8" RECYCLED FROM PLAYA STUDIOS RECYCLED FROM PLAYA STU			2	\$0.00	Т	\$0.00
RECYCLED FROM PLAYA STUDIOS			2	\$0.00	Т	\$0.00
Emory Cocktail Table, White RECYCLED FROM PLAYA STUDIOS \$0.00 T \$0.00			4	\$0.00	Т	\$0.00
### RECYCLED FROM PLAYA STUDIOS Banquet Round Low Tables, 36" 5			2	\$0.00	Т	\$0.00
X-back Chair, Light Wood RECYCLED FROM PLAYA STUDIOS 80 \$0.00 T \$0.00	Ī	•	5	\$0.00	Т	\$0.00
Banquet Serpentine Tables, 6ft 2		Banquet Round Low Tables, 36"	5	\$10.00	Т	\$50.00
Dessert Cart, Vintage Wash RECYCLED FROM PLAYA STUDIOS 2 \$0.00 T \$0.00			80	\$0.00	Т	\$0.00
RECYCLED FROM PLAYA STUDIOS			2	\$12.00	Т	\$24.00
RECYCLED FROM PLAYA STUDIOS			2	\$0.00	Т	\$0.00
Total YICC *Inside* \$86.00			1	\$0.00	Т	\$0.00
YICC *Outside* Hang Custom Sign PROVIDED BY MIMI 1 \$0.00 T			1	\$12.00	Т	\$12.00
Hang Custom Sign				Total YICC *Ins	\$86.00	
Flynn Bar, 6ft 1 \$0.00 T \$0.00 Green Hedge Panels, 8ft x 4ft 4 \$0.00 T \$0.00 FOR CATERING AREA / RECYCLED FROM PLAYA STUDIOS Highboy Cocktail Table, 30" 5 \$10.00 T \$50.00	YICC *Outside*					
Green Hedge Panels, 8ft x 4ft 4 \$0.00 T \$0.00 FOR CATERING AREA / RECYCLED FROM PLAYA STUDIOS Highboy Cocktail Table, 30" 5 \$10.00 T \$50.00			1	\$0.00	T	\$0.00
FOR CATERING AREA / RECYCLED FROM PLAYA STUDIOS Highboy Cocktail Table, 30" 5 \$10.00 T \$50.00			1	\$0.00	Т	\$0.00
			4	\$0.00	Т	\$0.00
Total YICC *Outside* \$50.00		Highboy Cocktail Table, 30"	5	\$10.00	Т	\$50.00
				Total YICC *Outside*		

Description Services		Qtty	Price	Total
	Trucking Fee	2	\$275.00	\$550.00
	Install Fee *Playa Studios / Thursday Morning*	1	\$600.00	\$600.00
	Strike Fee *Playa Studios / Thursday Night 10pm*	1	\$700.00	\$700.00
	Install Fee *YICC / Friday Morning*	1	\$600.00	\$600.00
	Strike Fee *YICC / Sunday Morning*	1	\$600.00	\$600.00
Notes			Total Products:	\$9,729.00
		Total La	bor/Services/Misc:	\$3,050.00
			Taxes:	\$924.26
			Discounts:	(\$0.00)
			Total:	\$13,703.26
			Payments:	(\$13,703.26)
			Balance:	\$-0.00